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RO 100|&=01% 3,000 JitO%E 1,000
FEO&R 100|zF 0= 1,000 |5RO3E 100
FOE 100| Rz PR EER 1,000 450+ 2,000
EOR 100|5O= 1,000 |E=0% 1,000
ZFO0X 200|&=O%x 1,000 | 0% 100
BROFH 200 =0 9,000 |[=O& 100
#O 500|& 0% 500 |[FROE 100
FOTT 200|#F0%F 1,000 |HO= 3,000
e}t 3,000|FRO*F 200 | =0 200
502 6000 500 |EO%= 1,000
X OHA 500|ZF03F 1,000 S BRAE 3,000
ROE 200|=0%= 200 (RO 100
EAGL:] 2,000|810%5 1,000 |EEO% 200
o= 6,000z 0= 500 |#O1% 5,000
REOR 3,000|%=0% 100 |20z 1,000
MO 2,000|= 0O 500 |#ROF& 500
BO= 500|#OH 500 |5&O#= 1,000
FOE 500|820 200 |zRO0= 10,000
THOE 500|201 1,000 |#&0O% 200
mOE 1,000p4#O= 200 |FROE 2,000
hEBEDRES 1,000]FRO%% 100 J:20& 100
ZOF 500|FEORt 200 |EEO= 100
1O= 200|5& 0= 100 |ERO=: 200
YUBREEEHE 1,000 0== 1,000 0% 200
FOE 500|=0H 100 |=0% 500
e 2,000|E 0% 100 |EIOF0 300
FRO%F 500|# O+ 200 R SHP 2 30,000
# O 500|# 0% 5,000 |2 K 100
THOE 500|#&OR 500 |m=2 K 100
HOHE 500) % O8H 1,000 |2 (€ 30
RO 100|280 10,000

#BO0un 500}t O# 200

HOFE 3,000|5RO# 500




